

**Bill To:**Albany County
Division Of Information Svcs
Albany, New York 12207-2023
United States

Client: Albany County
Account Number: 0013803
Payment Terms: Net 30

Primary Contact: Andrew Bellinger
Quote Name: RFQ CISCO DIS DSS

Ship To: Andrew Bellinger Division Of Information Svcs 112 State St Rm 500 Albany, New York 12207-2023 United States

**Quoted by:** Scott Butler **P** 908-566-0917 | **E** scott.butler@corebts.com

Account Manager: Bryon Perkins
P (518) 831-8940 | E bryon.perkins@corebts.com

Quote Number: Quote Date: Expiration Date: Q-60513 11/03/2023 11/30/2023

#### Phones

Qty	Item Number	Description	Term (Months)	Billing Frequency	Price	Ext Price
230	CP-7821-K9=	CISCO 7821 IP PHONE-CABLE -WALL MOUNTABLE		Prepaid	\$142.73	\$32,827.90
230	CON-SNT-P7NK92N9	SNTC-8X5XNBD UC Phone 7821	12	Prepaid	\$12.23	\$2,812.90
75	CP-8861-K9=	Cisco UC Phone 8861		Prepaid	\$392.51	\$29,438.25
75	CON-SNT-P8XK96X7	SNTC-8X5XNBD IP Phone 8861	12	Prepaid	\$33.42	\$2,506.50
5	CP-8832-K9	CISCO HW UNIFIED COMM IP CONFERENCE PHONE 8832 IN CHARCOAL FOR NORTH AMERICA		Prepaid	\$945.16	\$4,725.80
5	CON-SNT-P8TK93T3	SNTC 8x5xNBD 8832 in Charcoal with accessories for North America	12	Prepaid	\$97.01	\$485.05
5	CP-8832-POE	Cisco IP Conference Phone 8832 PoE Accessories for Worldwide		Prepaid	\$0.00	\$0.00
1	NY-CONTRACT- PM20800	NYS OGS Cisco Umbrella contract#PM20800		Prepaid	\$0.00	\$0.00
					Subtotal:	\$72,796.40

# Server Room

Qty	Item Number	Description	Term (Months)	Billing Frequency	Price	Ext Price
2	C9500-48Y4C-A	Catalyst 9500 48-port x 1/10/25G + 4-port 40/100G, Advantage		Prepaid	\$13,894.99	\$27,789.98
2	CON-SNT-C9504YA4	SNTC-8X5XNBD Catalyst 9500 48-port 25/100G only, Adva	60	Prepaid	\$7,779.13	\$15,558.26
4	CAB-9K12A-NA	Power Cord, 125VAC 13A NEMA 5-15 Plug, North America		Prepaid	\$0.00	\$0.00
2	C9K-PWR-650WAC-R	650W AC Config 4 Power Supply front to back cooling		Prepaid	\$0.00	\$0.00
2	C9K-PWR-650WAC-R/2	650W AC Config 4 Power Supply front to back cooling		Prepaid	\$1,292.21	\$2,584.42
2	C9K-F1-SSD-BLANK	Cisco pluggable SSD storage		Prepaid	\$0.00	\$0.00
4	C9K-T1-FANTRAY	Catalyst 9500 Type 4 front to back cooling Fan		Prepaid	\$0.00	\$0.00
2	C9500-NW-A	C9500 Network Stack, Advantage		Prepaid	\$0.00	\$0.00
2	S9500UK9-179	Catalyst 9500 XE 17.9 UNIVERSAL		Prepaid	\$0.00	\$0.00
2	C9500-SSD-NONE	No SSD Card Selected		Prepaid	\$0.00	\$0.00
2	C9500-DNA-48Y4C-A	C9500 DNA Advantage, Term License	36	Prepaid	\$0.00	\$0.00
2	C9500-DNA-A-3Y	36 month(s) - Cisco Catalyst 9500 DNA Advantage 3 Year License	36	Prepaid	\$6,944.62	\$13,889.24
2	NETWORK-PNP-NONE	Network Plug-n-Play Opt Out SKU		Prepaid	\$0.00	\$0.00
2	SFP-H25G-CU3M=	25GBASE-CU SFP28 Cable 3 Meter		Prepaid	\$57.09	\$114.18
2	QSFP-100G-CU1M=	100GBASE-CR4 Passive Copper Cable, 1m		Prepaid	\$213.94	\$427.88

Q	ty Item Number	Description	Term (Months)	Billing Frequency	Price	Ext Price
3	SFP-10/25G-BXD-I=	10/25GBASE-LR BiDirectional - D SFP28 iTemp Module		Prepaid	\$1,865.29	\$5,595.87
3	SFP-10/25G-BXU-I=	10/25GBASE-LR BiDirectional - U SFP28 iTemp Module		Prepaid	\$1,865.29	\$5,595.87
16	SFP-10G-LRM=	10GBASE-LRM SFP MODULE		Prepaid	\$496.18	\$7,938.88
					Subtotal:	\$79,494.58

# Server RM 9300 w/25G Uplinks Dual Power

Qty	Item Number	Description	Term (Months)	Billing Frequency	Price	Ext Price
1	C9300-48P-E	Catalyst 9300 48-port PoE+, Network Essentials		Prepaid	\$5,795.81	\$5,795.81
1	CON-SNT-C93004PE	SNTC-8X5XNBD Catalyst 9300 48-port PoE+, Network Esse	12	Prepaid	\$697.87	\$697.87
1	C9300-NW-E-48	C9300 Network Essentials, 48-port license		Prepaid	\$0.00	\$0.00
1	SC9300UK9-176	Catalyst 9300 XE 17.6 UNIVERSAL UNIVERSAL		Prepaid	\$0.00	\$0.00
1	PWR-C1-1100WAC-UP	Upgrade option 1100W AC 80+ platinum Config 1 Power Supply		Prepaid	\$411.61	\$411.61
1	PWR-C1-1100WAC-P/2	1100W AC 80+ platinum Config 1 Secondary Power Supply		Prepaid	\$1,090.48	\$1,090.48
2	CAB-TA-NA	North America AC Type A Power Cable		Prepaid	\$0.00	\$0.00
1	C9300-SSD-NONE	No SSD Card Selected		Prepaid	\$0.00	\$0.00
1	STACK-T1-1M	1M Type 1 Stacking Cable		Prepaid	\$114.79	\$114.79
1	CAB-SPWR-150CM	CAB-SPWR-150CM		Prepaid	\$57.39	\$57.39
1	C9K-ACC-SCR-4	12-24 and 10-32 SCREWS FOR RACK INSTALLATION, QTY 4		Prepaid	\$0.00	\$0.00
1	CAB-GUIDE-1RU	1RU CABLE MANAGEMENT GUIDES 9200 and 9300		Prepaid	\$0.00	\$0.00
1	C9300-DNA-E-48	C9300 DNA Essentials, 48-Port Term Licenses	36	Prepaid	\$0.00	\$0.00
1	C9300-DNA-E-48-3Y	C9300 DNA Essentials, 48-port, 3 Year Term license	36	Prepaid	\$642.81	\$642.81
1	C9300-NM-2Y	Catalyst 9300 2 x 25GE Network Module		Prepaid	\$1,469.85	\$1,469.85
1	NETWORK-PNP-NONE	Network Plug-n-Play Opt Out SKU		Prepaid	\$0.00	\$0.00
16	CAB-MCP-LC=	Mode Conditioning Patch cable; LC connector		Prepaid	\$329.80	\$5,276.80
5	GLC-TE=	1000BASE-T SFP transceiver module for Category 5 copper wire		Prepaid	\$217.52	\$1,087.60
					Subtotal:	\$16,645.01

# 7th Floor - 10GE Uplinks

Qty	Item Number	Description	Term (Months)	Billing Frequency	Price	Ext Price
1	C9300-48P-E	Catalyst 9300 48-port PoE+, Network Essentials		Prepaid	\$5,795.81	\$5,795.81
1	CON-SNT-C93004PE	SNTC-8X5XNBD Catalyst 9300 48-port PoE+, Network Esse	12	Prepaid	\$697.87	\$697.87
1	C9300-NW-E-48	C9300 Network Essentials, 48-port license		Prepaid	\$0.00	\$0.00
1	SC9300UK9-176	Catalyst 9300 XE 17.6 UNIVERSAL UNIVERSAL		Prepaid	\$0.00	\$0.00
1	PWR-C1-1100WAC-UP	Upgrade option 1100W AC 80+ platinum Config 1 Power Supply		Prepaid	\$411.61	\$411.61
1	C9300-SPS-NONE	No Secondary Power Supply Selected		Prepaid	\$0.00	\$0.00
1	CAB-TA-NA	North America AC Type A Power Cable		Prepaid	\$0.00	\$0.00
1	C9300-SSD-NONE	No SSD Card Selected		Prepaid	\$0.00	\$0.00
1	STACK-T1-1M	1M Type 1 Stacking Cable		Prepaid	\$114.79	\$114.79
1	CAB-SPWR-150CM	CAB-SPWR-150CM		Prepaid	\$57.39	\$57.39
1	PWR-C1-BLANK	Config 1 Power Supply Blank		Prepaid	\$0.00	\$0.00
1	C9K-ACC-SCR-4	12-24 and 10-32 SCREWS FOR RACK INSTALLATION, QTY 4		Prepaid	\$0.00	\$0.00

Qty	Item Number	Description	Term (Months)	Billing Frequency	Price	Ext Price
1	CAB-GUIDE-1RU	1RU CABLE MANAGEMENT GUIDES 9200 and 9300		Prepaid	\$0.00	\$0.00
1	C9300-DNA-E-48	C9300 DNA Essentials, 48-Port Term Licenses	36	Prepaid	\$0.00	\$0.00
1	C9300-DNA-E-48-3Y	C9300 DNA Essentials, 48-port, 3 Year Term license	36	Prepaid	\$642.81	\$642.81
1	C9300-NM-8X	Catalyst 9300 8 x 10GE Network Module		Prepaid	\$1,463.54	\$1,463.54
1	NETWORK-PNP-NONE	Network Plug-n-Play Opt Out SKU		Prepaid	\$0.00	\$0.00
2	SFP-10G-LRM=	10GBASE-LRM SFP MODULE		Prepaid	\$496.18	\$992.36
2	CAB-MCP-LC=	Mode Conditioning Patch cable; LC connector		Prepaid	\$329.80	\$659.60
					Subtotal:	\$10.835.78

# 6th Floor - 10GE Uplinks

Qty	Item Number	Description	Term (Months)	Billing Frequency	Price	Ext Price
2	C9300-48P-E	Catalyst 9300 48-port PoE+, Network Essentials		Prepaid	\$5,795.81	\$11,591.62
2	CON-SNT-C93004PE	SNTC-8X5XNBD Catalyst 9300 48-port PoE+, Network Esse	12	Prepaid	\$697.87	\$1,395.74
2	C9300-NW-E-48	C9300 Network Essentials, 48-port license		Prepaid	\$0.00	\$0.00
2	SC9300UK9-176	Catalyst 9300 XE 17.6 UNIVERSAL UNIVERSAL		Prepaid	\$0.00	\$0.00
2	PWR-C1-1100WAC-UP	Upgrade option 1100W AC 80+ platinum Config 1 Power Supply		Prepaid	\$411.61	\$823.22
2	C9300-SPS-NONE	No Secondary Power Supply Selected		Prepaid	\$0.00	\$0.00
2	CAB-TA-NA	North America AC Type A Power Cable		Prepaid	\$0.00	\$0.00
2	C9300-SSD-NONE	No SSD Card Selected		Prepaid	\$0.00	\$0.00
2	STACK-T1-1M	1M Type 1 Stacking Cable		Prepaid	\$114.79	\$229.58
2	CAB-SPWR-150CM	CAB-SPWR-150CM		Prepaid	\$57.39	\$114.78
2	PWR-C1-BLANK	Config 1 Power Supply Blank		Prepaid	\$0.00	\$0.00
2	C9K-ACC-SCR-4	12-24 and 10-32 SCREWS FOR RACK INSTALLATION, QTY 4		Prepaid	\$0.00	\$0.00
2	CAB-GUIDE-1RU	1RU CABLE MANAGEMENT GUIDES 9200 and 9300		Prepaid	\$0.00	\$0.00
2	C9300-DNA-E-48	C9300 DNA Essentials, 48-Port Term Licenses	36	Prepaid	\$0.00	\$0.00
2	C9300-DNA-E-48-3Y	C9300 DNA Essentials, 48-port, 3 Year Term license	36	Prepaid	\$642.81	\$1,285.62
2	C9300-NM-8X	Catalyst 9300 8 x 10GE Network Module		Prepaid	\$1,463.54	\$2,927.08
2	NETWORK-PNP-NONE	Network Plug-n-Play Opt Out SKU		Prepaid	\$0.00	\$0.00
2	SFP-10G-LRM=	10GBASE-LRM SFP MODULE		Prepaid	\$496.18	\$992.36
2	CAB-MCP-LC=	Mode Conditioning Patch cable; LC connector		Prepaid	\$329.80	\$659.60
					Subtotal:	\$20,019.60

# 5th Floor - 10GE Uplinks

Qty	Item Number	Description	Term (Months)	Billing Frequency	Price	Ext Price
2	C9300-48P-E	Catalyst 9300 48-port PoE+, Network Essentials		Prepaid	\$5,795.81	\$11,591.62
2	CON-SNT-C93004PE	SNTC-8X5XNBD Catalyst 9300 48-port PoE+, Network Esse	12	Prepaid	\$697.87	\$1,395.74
2	C9300-NW-E-48	C9300 Network Essentials, 48-port license		Prepaid	\$0.00	\$0.00
2	SC9300UK9-176	Catalyst 9300 XE 17.6 UNIVERSAL UNIVERSAL		Prepaid	\$0.00	\$0.00
2	PWR-C1-1100WAC-UP	Upgrade option 1100W AC 80+ platinum Config 1 Power Supply		Prepaid	\$411.61	\$823.22
2	C9300-SPS-NONE	No Secondary Power Supply Selected		Prepaid	\$0.00	\$0.00
2	CAB-TA-NA	North America AC Type A Power Cable		Prepaid	\$0.00	\$0.00

Qty	Item Number	Description	Term (Months)	Billing Frequency	Price	Ext Price
2	C9300-SSD-NONE	No SSD Card Selected		Prepaid	\$0.00	\$0.00
2	STACK-T1-1M	1M Type 1 Stacking Cable		Prepaid	\$114.79	\$229.58
2	CAB-SPWR-150CM	CAB-SPWR-150CM		Prepaid	\$57.39	\$114.78
2	PWR-C1-BLANK	Config 1 Power Supply Blank		Prepaid	\$0.00	\$0.00
2	C9K-ACC-SCR-4	12-24 and 10-32 SCREWS FOR RACK INSTALLATION, QTY 4		Prepaid	\$0.00	\$0.00
2	CAB-GUIDE-1RU	1RU CABLE MANAGEMENT GUIDES 9200 and 9300		Prepaid	\$0.00	\$0.00
2	C9300-DNA-E-48	C9300 DNA Essentials, 48-Port Term Licenses	36	Prepaid	\$0.00	\$0.00
2	C9300-DNA-E-48-3Y	C9300 DNA Essentials, 48-port, 3 Year Term license	36	Prepaid	\$642.81	\$1,285.62
2	C9300-NM-8X	Catalyst 9300 8 x 10GE Network Module		Prepaid	\$1,463.54	\$2,927.08
2	NETWORK-PNP-NONE	Network Plug-n-Play Opt Out SKU		Prepaid	\$0.00	\$0.00
					Subtotal:	\$18,367.64

#### 5th Floor - No Uplink Module

Qty	Item Number	Description	Term (Months)	Billing Frequency	Price	Ext Price
1	C9300-48P-E	Catalyst 9300 48-port PoE+, Network Essentials		Prepaid	\$5,795.81	\$5,795.81
1	CON-SNT-C93004PE	SNTC-8X5XNBD Catalyst 9300 48-port PoE+, Network Esse	12	Prepaid	\$697.87	\$697.87
1	C9300-NW-E-48	C9300 Network Essentials, 48-port license		Prepaid	\$0.00	\$0.00
1	SC9300UK9-176	Catalyst 9300 XE 17.6 UNIVERSAL UNIVERSAL		Prepaid	\$0.00	\$0.00
1	PWR-C1-1100WAC-UP	Upgrade option 1100W AC 80+ platinum Config 1 Power Supply		Prepaid	\$411.61	\$411.61
1	C9300-SPS-NONE	No Secondary Power Supply Selected		Prepaid	\$0.00	\$0.00
1	CAB-TA-NA	North America AC Type A Power Cable		Prepaid	\$0.00	\$0.00
1	C9300-SSD-NONE	No SSD Card Selected		Prepaid	\$0.00	\$0.00
1	STACK-T1-1M	1M Type 1 Stacking Cable		Prepaid	\$114.79	\$114.79
1	CAB-SPWR-150CM	CAB-SPWR-150CM		Prepaid	\$57.39	\$57.39
1	NM-BLANK-T1	Cisco Catalyst Type 1 Network Module Blank		Prepaid	\$0.00	\$0.00
1	PWR-C1-BLANK	Config 1 Power Supply Blank		Prepaid	\$0.00	\$0.00
1	C9K-ACC-SCR-4	12-24 and 10-32 SCREWS FOR RACK INSTALLATION, QTY 4		Prepaid	\$0.00	\$0.00
1	CAB-GUIDE-1RU	1RU CABLE MANAGEMENT GUIDES 9200 and 9300		Prepaid	\$0.00	\$0.00
1	C9300-DNA-E-48	C9300 DNA Essentials, 48-Port Term Licenses	36	Prepaid	\$0.00	\$0.00
1	C9300-DNA-E-48-3Y	C9300 DNA Essentials, 48-port, 3 Year Term license	36	Prepaid	\$642.81	\$642.81
1	C9300-NM-NONE	No Network Module Selected		Prepaid	\$0.00	\$0.00
1	NETWORK-PNP-NONE	Network Plug-n-Play Opt Out SKU		Prepaid	\$0.00	\$0.00
2	SFP-10G-LRM=	10GBASE-LRM SFP MODULE		Prepaid	\$496.18	\$992.36
2	CAB-MCP-LC=	Mode Conditioning Patch cable; LC connector		Prepaid	\$329.80	\$659.60
					Subtotal:	\$9,372.24

# 4th Floor - 10GE Uplinks

Qty	Item Number	Description	Term (Months)	Billing Frequency	Price	Ext Price
2	C9300-48P-E	Catalyst 9300 48-port PoE+, Network Essentials		Prepaid	\$5,795.81	\$11,591.62
2	CON-SNT-C93004PE	SNTC-8X5XNBD Catalyst 9300 48-port PoE+, Network Esse	12	Prepaid	\$697.87	\$1,395.74
2	C9300-NW-E-48	C9300 Network Essentials, 48-port license		Prepaid	\$0.00	\$0.00

Qty	Item Number	Description	Term (Months)	Billing Frequency	Price	Ext Price
2	SC9300UK9-176	Catalyst 9300 XE 17.6 UNIVERSAL UNIVERSAL		Prepaid	\$0.00	\$0.00
2	PWR-C1-1100WAC-UP	Upgrade option 1100W AC 80+ platinum Config 1 Power Supply		Prepaid	\$411.61	\$823.22
2	C9300-SPS-NONE	No Secondary Power Supply Selected		Prepaid	\$0.00	\$0.00
2	CAB-TA-NA	North America AC Type A Power Cable		Prepaid	\$0.00	\$0.00
2	C9300-SSD-NONE	No SSD Card Selected		Prepaid	\$0.00	\$0.00
2	STACK-T1-1M	1M Type 1 Stacking Cable		Prepaid	\$114.79	\$229.58
2	CAB-SPWR-150CM	CAB-SPWR-150CM		Prepaid	\$57.39	\$114.78
2	PWR-C1-BLANK	Config 1 Power Supply Blank		Prepaid	\$0.00	\$0.00
2	C9K-ACC-SCR-4	12-24 and 10-32 SCREWS FOR RACK INSTALLATION, QTY 4		Prepaid	\$0.00	\$0.00
2	CAB-GUIDE-1RU	1RU CABLE MANAGEMENT GUIDES 9200 and 9300		Prepaid	\$0.00	\$0.00
2	C9300-DNA-E-48	C9300 DNA Essentials, 48-Port Term Licenses	36	Prepaid	\$0.00	\$0.00
2	C9300-DNA-E-48-3Y	C9300 DNA Essentials, 48-port, 3 Year Term license	36	Prepaid	\$642.81	\$1,285.62
2	C9300-NM-8X	Catalyst 9300 8 x 10GE Network Module		Prepaid	\$1,463.54	\$2,927.08
2	NETWORK-PNP-NONE	Network Plug-n-Play Opt Out SKU		Prepaid	\$0.00	\$0.00
2	SFP-10G-LRM=	10GBASE-LRM SFP MODULE		Prepaid	\$496.18	\$992.36
2	CAB-MCP-LC=	Mode Conditioning Patch cable; LC connector		Prepaid	\$329.80	\$659.60
					Subtotal:	\$20,019.60

# 3rd Floor - 10GE Uplinks

Qty	Item Number	Description	Term (Months)	Billing Frequency	Price	Ext Price
2	C9300-48P-E	Catalyst 9300 48-port PoE+, Network Essentials		Prepaid	\$5,795.81	\$11,591.62
2	CON-SNT-C93004PE	SNTC-8X5XNBD Catalyst 9300 48-port PoE+, Network Esse	12	Prepaid	\$697.87	\$1,395.74
2	C9300-NW-E-48	C9300 Network Essentials, 48-port license		Prepaid	\$0.00	\$0.00
2	SC9300UK9-176	Catalyst 9300 XE 17.6 UNIVERSAL UNIVERSAL		Prepaid	\$0.00	\$0.00
2	PWR-C1-1100WAC-UP	Upgrade option 1100W AC 80+ platinum Config 1 Power Supply		Prepaid	\$411.61	\$823.22
2	C9300-SPS-NONE	No Secondary Power Supply Selected		Prepaid	\$0.00	\$0.00
2	CAB-TA-NA	North America AC Type A Power Cable		Prepaid	\$0.00	\$0.00
2	C9300-SSD-NONE	No SSD Card Selected		Prepaid	\$0.00	\$0.00
2	STACK-T1-1M	1M Type 1 Stacking Cable		Prepaid	\$114.79	\$229.58
2	CAB-SPWR-150CM	CAB-SPWR-150CM		Prepaid	\$57.39	\$114.78
2	PWR-C1-BLANK	Config 1 Power Supply Blank		Prepaid	\$0.00	\$0.00
2	C9K-ACC-SCR-4	12-24 and 10-32 SCREWS FOR RACK INSTALLATION, QTY 4		Prepaid	\$0.00	\$0.00
2	CAB-GUIDE-1RU	1RU CABLE MANAGEMENT GUIDES 9200 and 9300		Prepaid	\$0.00	\$0.00
2	C9300-DNA-E-48	C9300 DNA Essentials, 48-Port Term Licenses	36	Prepaid	\$0.00	\$0.00
2	C9300-DNA-E-48-3Y	C9300 DNA Essentials, 48-port, 3 Year Term license	36	Prepaid	\$642.81	\$1,285.62
2	C9300-NM-8X	Catalyst 9300 8 x 10GE Network Module		Prepaid	\$1,463.54	\$2,927.08
2	NETWORK-PNP-NONE	Network Plug-n-Play Opt Out SKU		Prepaid	\$0.00	\$0.00
2	SFP-10G-LRM=	10GBASE-LRM SFP MODULE		Prepaid	\$496.18	\$992.36
2	CAB-MCP-LC=	Mode Conditioning Patch cable; LC connector		Prepaid	\$329.80	\$659.60
					Subtotal:	\$20,019.60

# 2nd Floor - 10GE Uplinks

Qty	Item Number	Description	Term (Months)	Billing Frequency	Price	Ext Price
2	C9300-48P-E	Catalyst 9300 48-port PoE+, Network Essentials		Prepaid	\$5,795.81	\$11,591.62
2	CON-SNT-C93004PE	SNTC-8X5XNBD Catalyst 9300 48-port PoE+, Network Esse	12	Prepaid	\$697.87	\$1,395.74
2	C9300-NW-E-48	C9300 Network Essentials, 48-port license		Prepaid	\$0.00	\$0.00
2	SC9300UK9-176	Catalyst 9300 XE 17.6 UNIVERSAL UNIVERSAL		Prepaid	\$0.00	\$0.00
2	PWR-C1-1100WAC-UP	Upgrade option 1100W AC 80+ platinum Config 1 Power Supply		Prepaid	\$411.61	\$823.22
2	C9300-SPS-NONE	No Secondary Power Supply Selected		Prepaid	\$0.00	\$0.00
2	CAB-TA-NA	North America AC Type A Power Cable		Prepaid	\$0.00	\$0.00
2	C9300-SSD-NONE	No SSD Card Selected		Prepaid	\$0.00	\$0.00
2	STACK-T1-1M	1M Type 1 Stacking Cable		Prepaid	\$114.79	\$229.58
2	CAB-SPWR-150CM	CAB-SPWR-150CM		Prepaid	\$57.39	\$114.78
2	PWR-C1-BLANK	Config 1 Power Supply Blank		Prepaid	\$0.00	\$0.00
2	C9K-ACC-SCR-4	12-24 and 10-32 SCREWS FOR RACK INSTALLATION, QTY 4		Prepaid	\$0.00	\$0.00
2	CAB-GUIDE-1RU	1RU CABLE MANAGEMENT GUIDES 9200 and 9300		Prepaid	\$0.00	\$0.00
2	C9300-DNA-E-48	C9300 DNA Essentials, 48-Port Term Licenses	36	Prepaid	\$0.00	\$0.00
2	C9300-DNA-E-48-3Y	C9300 DNA Essentials, 48-port, 3 Year Term license	36	Prepaid	\$642.81	\$1,285.62
2	C9300-NM-8X	Catalyst 9300 8 x 10GE Network Module		Prepaid	\$1,463.54	\$2,927.08
2	NETWORK-PNP-NONE	Network Plug-n-Play Opt Out SKU		Prepaid	\$0.00	\$0.00
					Subtotal:	\$18,367.64

#### 2nd Floor - No Uplink Module

Qty	Item Number	Description	Term (Months)	Billing Frequency	Price	Ext Price
1	C9300-48P-E	Catalyst 9300 48-port PoE+, Network Essentials		Prepaid	\$5,795.81	\$5,795.81
1	CON-SNT-C93004PE	SNTC-8X5XNBD Catalyst 9300 48-port PoE+, Network Esse	12	Prepaid	\$697.87	\$697.87
1	C9300-NW-E-48	C9300 Network Essentials, 48-port license		Prepaid	\$0.00	\$0.00
1	SC9300UK9-176	Catalyst 9300 XE 17.6 UNIVERSAL UNIVERSAL		Prepaid	\$0.00	\$0.00
1	PWR-C1-1100WAC-UP	Upgrade option 1100W AC 80+ platinum Config 1 Power Supply		Prepaid	\$411.61	\$411.61
1	C9300-SPS-NONE	No Secondary Power Supply Selected		Prepaid	\$0.00	\$0.00
1	CAB-TA-NA	North America AC Type A Power Cable		Prepaid	\$0.00	\$0.00
1	C9300-SSD-NONE	No SSD Card Selected		Prepaid	\$0.00	\$0.00
1	STACK-T1-1M	1M Type 1 Stacking Cable		Prepaid	\$114.79	\$114.79
1	CAB-SPWR-150CM	CAB-SPWR-150CM		Prepaid	\$57.39	\$57.39
1	NM-BLANK-T1	Cisco Catalyst Type 1 Network Module Blank		Prepaid	\$0.00	\$0.00
1	PWR-C1-BLANK	Config 1 Power Supply Blank		Prepaid	\$0.00	\$0.00
1	C9K-ACC-SCR-4	12-24 and 10-32 SCREWS FOR RACK INSTALLATION, QTY 4		Prepaid	\$0.00	\$0.00
1	CAB-GUIDE-1RU	1RU CABLE MANAGEMENT GUIDES 9200 and 9300		Prepaid	\$0.00	\$0.00
1	C9300-DNA-E-48	C9300 DNA Essentials, 48-Port Term Licenses	36	Prepaid	\$0.00	\$0.00
1	C9300-DNA-E-48-3Y	C9300 DNA Essentials, 48-port, 3 Year Term license	36	Prepaid	\$642.81	\$642.81
1	C9300-NM-NONE	No Network Module Selected		Prepaid	\$0.00	\$0.00
1	NETWORK-PNP-NONE	Network Plug-n-Play Opt Out SKU		Prepaid	\$0.00	\$0.00
2	SFP-10G-LRM=	10GBASE-LRM SFP MODULE		Prepaid	\$496.18	\$992.36

Qty	Item Number	Description	Term (Months)	Billing Frequency	Price	Ext Price
2	CAB-MCP-LC=	Mode Conditioning Patch cable; LC connector		Prepaid	\$329.80	\$659.60
					Subtotal:	\$9,372.24
1at Fla	oor - 10GE Uplinks					
Qty	Item Number	Description	Term (Months)	Billing	Price	Ext Price
3-1			,	Frequency		
2	C9300-48P-E	Catalyst 9300 48-port PoE+, Network Essentials		Prepaid	\$5,795.81	\$11,591.62
2	CON-SNT-C93004PE	SNTC-8X5XNBD Catalyst 9300 48-port PoE+, Network Esse	12	Prepaid	\$697.87	\$1,395.74
2	C9300-NW-E-48	C9300 Network Essentials, 48-port license		Prepaid	\$0.00	\$0.00
2	SC9300UK9-176	Catalyst 9300 XE 17.6 UNIVERSAL UNIVERSAL		Prepaid	\$0.00	\$0.00
2	PWR-C1-1100WAC-UP	Upgrade option 1100W AC 80+ platinum Config 1 Power Supply		Prepaid	\$411.61	\$823.22
2	C9300-SPS-NONE	No Secondary Power Supply Selected		Prepaid	\$0.00	\$0.00
2	CAB-TA-NA	North America AC Type A Power Cable		Prepaid	\$0.00	\$0.00
2	C9300-SSD-NONE	No SSD Card Selected		Prepaid	\$0.00	\$0.00
2	STACK-T1-1M	1M Type 1 Stacking Cable		Prepaid	\$114.79	\$229.58
2	CAB-SPWR-150CM	CAB-SPWR-150CM		Prepaid	\$57.39	\$114.78
2	PWR-C1-BLANK	Config 1 Power Supply Blank		Prepaid	\$0.00	\$0.00
2	C9K-ACC-SCR-4	12-24 and 10-32 SCREWS FOR RACK INSTALLATION, QTY 4		Prepaid	\$0.00	\$0.00
2	CAB-GUIDE-1RU	1RU CABLE MANAGEMENT GUIDES 9200 and 9300		Prepaid	\$0.00	\$0.00
2	C9300-DNA-E-48	C9300 DNA Essentials, 48-Port Term Licenses	36	Prepaid	\$0.00	\$0.00
2	C9300-DNA-E-48-3Y	C9300 DNA Essentials, 48-port, 3 Year Term license	36	Prepaid	\$642.81	\$1,285.62
2	C9300-NM-8X	Catalyst 9300 8 x 10GE Network Module		Prepaid	\$1,463.54	\$2,927.08
2	NETWORK-PNP-NONE	Network Plug-n-Play Opt Out SKU		Prepaid	\$0.00	\$0.00
2	SFP-10G-LRM=	10GBASE-LRM SFP MODULE		Prepaid	\$496.18	\$992.36
2	CAB-MCP-LC=	Mode Conditioning Patch cable; LC connector		Prepaid	\$329.80	\$659.60
					Subtotal:	\$20,019.60
1st Flo	oor - No Uplink Module					
Qty	Item Number	Description	Term (Months)	Billing Frequency	Price	Ext Price
2	C9300-48P-E	Catalyst 9300 48-port PoE+, Network Essentials		Prepaid	\$5,795.81	\$11,591.62
2	CON-SNT-C93004PE	SNTC-8X5XNBD Catalyst 9300 48-port PoE+, Network Esse	12	Prepaid	\$697.87	\$1,395.74
2	C9300-NW-E-48	C9300 Network Essentials, 48-port license		Prepaid	\$0.00	\$0.00
2	SC9300UK9-176	Catalyst 9300 XE 17.6 UNIVERSAL UNIVERSAL		Prepaid	\$0.00	\$0.00
2	PWR-C1-1100WAC-UP	Upgrade option 1100W AC 80+ platinum Config 1 Power Supply		Prepaid	\$411.61	\$823.22
2	C9300-SPS-NONE	No Secondary Power Supply Selected		Prepaid	\$0.00	\$0.00
2	CAB-TA-NA	North America AC Type A Power Cable		Prepaid	\$0.00	\$0.00
2	C9300-SSD-NONE	No SSD Card Selected		Prepaid	\$0.00	\$0.00
2	STACK-T1-1M	1M Type 1 Stacking Cable		Prepaid	\$114.79	\$229.58
2	CAB-SPWR-150CM	CAB-SPWR-150CM		Prepaid	\$57.39	\$114.78
2	PWR-C1-BLANK	Config 1 Power Supply Blank		Prepaid	\$0.00	\$0.00
2	C9K-ACC-SCR-4	12-24 and 10-32 SCREWS FOR RACK INSTALLATION, QTY 4		Prepaid	\$0.00	\$0.00
2	CAB-GUIDE-1RU	1RU CABLE MANAGEMENT GUIDES 9200 and 9300		Prepaid	\$0.00	\$0.00
				•		

Qty	Item Number	Description	Term (Months)	Billing Frequency	Price	Ext Price
2	C9300-DNA-E-48	C9300 DNA Essentials, 48-Port Term Licenses	36	Prepaid	\$0.00	\$0.00
2	C9300-DNA-E-48-3Y	C9300 DNA Essentials, 48-port, 3 Year Term license	36	Prepaid	\$642.81	\$1,285.62
2	C9300-NM-8X	Catalyst 9300 8 x 10GE Network Module		Prepaid	\$1,463.54	\$2,927.08
2	NETWORK-PNP-NONE	Network Plug-n-Play Opt Out SKU		Prepaid	\$0.00	\$0.00
					Subtotal:	\$18,367.64
Basemo	ent - 10GE Uplinks					
Qty	Item Number	Description	Term (Months)	Billing Frequency	Price	Ext Price
2	C9300-48P-E	Catalyst 9300 48-port PoE+, Network Essentials		Prepaid	\$5,795.81	\$11,591.62
2	CON-SNT-C93004PE	SNTC-8X5XNBD Catalyst 9300 48-port PoE+, Network Esse	12	Prepaid	\$697.87	\$1,395.74
2	C9300-NW-E-48	C9300 Network Essentials, 48-port license		Prepaid	\$0.00	\$0.00
2	SC9300UK9-176	Catalyst 9300 XE 17.6 UNIVERSAL UNIVERSAL		Prepaid	\$0.00	\$0.00
2	PWR-C1-1100WAC-UP	Upgrade option 1100W AC 80+ platinum Config 1 Power Supply		Prepaid	\$411.61	\$823.22
2	C9300-SPS-NONE	No Secondary Power Supply Selected		Prepaid	\$0.00	\$0.00
2	CAB-TA-NA	North America AC Type A Power Cable		Prepaid	\$0.00	\$0.00
2	C9300-SSD-NONE	No SSD Card Selected		Prepaid	\$0.00	\$0.00
2	STACK-T1-1M	1M Type 1 Stacking Cable		Prepaid	\$114.79	\$229.58
2	CAB-SPWR-150CM	CAB-SPWR-150CM		Prepaid	\$57.39	\$114.78
2	NM-BLANK-T1	Cisco Catalyst Type 1 Network Module Blank		Prepaid	\$0.00	\$0.00
2	PWR-C1-BLANK	Config 1 Power Supply Blank		Prepaid	\$0.00	\$0.00
2	C9K-ACC-SCR-4	12-24 and 10-32 SCREWS FOR RACK INSTALLATION, QTY 4		Prepaid	\$0.00	\$0.00
2	CAB-GUIDE-1RU	1RU CABLE MANAGEMENT GUIDES 9200 and 9300		Prepaid	\$0.00	\$0.00
2	C9300-DNA-E-48	C9300 DNA Essentials, 48-Port Term Licenses	36	Prepaid	\$0.00	\$0.00
2	C9300-DNA-E-48-3Y	C9300 DNA Essentials, 48-port, 3 Year Term license	36	Prepaid	\$642.81	\$1,285.62
2	C9300-NM-NONE	No Network Module Selected		Prepaid	\$0.00	\$0.00
2	NETWORK-PNP-NONE	Network Plug-n-Play Opt Out SKU		Prepaid	\$0.00	\$0.00
2	SFP-10G-LRM=	10GBASE-LRM SFP MODULE		Prepaid	\$496.18	\$992.36
2	CAB-MCP-LC=	Mode Conditioning Patch cable; LC connector		Prepaid	\$329.80	\$659.60
1	STACK-T1-3M=	3M Type 1 Stacking Cable		Prepaid	\$213.34	\$213.34
					Subtotal:	\$17,305.86
Misc.						
Qty	Item Number	Description	Term (Months)	Billing Frequency	Price	Ext Price
1	NY-CONTRACT- PM20800	NYS OGS Cisco Umbrella contract#PM20800		Prepaid	\$0.00	\$0.00
1	CORE-NOFGHT	No freight charge to client		Prepaid	\$0.00	\$0.00
					Subtotal:	\$0.00
				First Invoice Am Quote Sub Estimated Sale Quote	total: s Tax:	\$351,003.43 \$351,003.43 \$351,003.43

Notes:

Accepted by:	Printed name:	Date:

To ensure fastest processing, please send purchase order/signed quote to purchase.orders@corebts.com and CC the two individuals listed above or fax to (317) 573-1665. If changes are required, please request a revised quote. Thank you for your business!

By accepting this quote you agree to Core's Standard Terms and Conditions which can be found at https://corebts.com/legal/T&C.

This proposal is confidential, and shall not be used or disclosed, in whole or in part, for any purpose other than evaluation within the client organization. This quote shall expire on the "Expiration Date" above.

Notwithstanding the foregoing, all product and pricing information is based on the latest information available and is subject to change without notice, including at any time prior to the expiration of the quote. All prices are in U.S. dollars. Prices and tax rates are valid in the U.S. only and are subject to change. Sales tax is based on the "ship to" address on your purchase order. Please indicate your taxability status on your purchase order. Product availability is subject to change and cannot be guaranteed. All shipments are FOB destination. Appropriate freight charges will be added at the time of invoice. Please note that this quote may include items which may be subject to vendor restocking fees if returned, or may not be returnable if not defective (all returns are subject to vendor RMA approval). Core passes through all vendor restocking terms and fees without modification, markup, or additional fees. Some vendors do not allow cancellation of orders once placed; if Core is unable to cancel a vendor order, the customer shall have no right to cancel the order.

Cancellation of any licensing or services with a fixed term or indicated as non-cancellable shall Incur a termination fee equal to 100% of the cost of the remainder of the term, payable to Core in full upon the effective termination date. If First Invoice Amount is less than the Quote Total this is due to the fact that some or all items have a billing frequency of more than one instance, please consult the billing frequency listed for each item. First Invoice Amount is estimated and may not include shipping/freight, estimated sales tax, and incidental charges.